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Titration 2 —M%

1. A solution of hydrochloric acid was standardized by titrating a sample of sodium carbonate.
A 0.2786-g sample of the sodium carbonate was added to approximately 25 mL of water in a
flask. An addition of 23.78 mL of the HCl solution was required to reach the endpoint.
What is the molar concentration of the hydrochloric acid?
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2. Inatitration, 27.92 mL of a 0.4500 M NaOH solution is required to fully titrate a 15.00 mL
sample of a solution that contains the triprotic acid, citric acid: H3CsHsO4. Calculate the
molarity of the citric acid in the solution.
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3. A 0.361 g sample of an unknown tetraprotic acid is titrated with a 0.100 M solution of KOH
and 33.15 mL of the solution is required to fully titrate the acid sample.
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